Finance 2 Homework

1. Calculate how much interest you would earn on a deposit of $S8000 invested at
2.5%, compou _ged annually for a term of 5 years.
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2. Aninvestment offers a rate of 2.8% per annum, compounded annually. Use the
rule of 72 to determine about how long it will take for the value to double
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3. Which is the better investment over 5 years?

a) An investment that offers a rate of 1.9% per annum, compounded annually
b) An investment that offers at rate of 1.75% per annum, compounded monthly
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4. The day lan was born, his grandparents deposited $10000 into a trust account
for college yielding 9% compoundedWy. On his 18 birthday, how much

money did lan have for college? 4 Jﬁwes a 7/(0\\(,
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5. An investment opportunity of $50000 for 10 years has two options: the first pays
7% compounded annually, the second pays 6.8% compounded monthly. Which is
the better investment, and by how much? (2X10
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6. A couple deposits $6000 in a savings account paying 4.5% compounded monthly.
After 3 years, the credit union lowers the interest rate to 3% compounded daily.
How much is in the account after 5 years?
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7. Brad must pay $30000 in settlement of an obligation in 3 years. How much must
he deposit today at 8% compounded quarterly to have enough to pay the
settlement?
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